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PAST EXAMINATON QUESTIONS - TRAG, IBENTIES 4 EONG

1« Given that 4 is an acute angle such that cos 4 = % find, without using tables or calculators,
the value of (i) cos 24, (ii) tan 24, (iii) cos 44. (Sp2/7b) :

. Given that tan 6 = ¢ where 0 is acute, express in terms of t, (i) tan (G + 45°), (ii) cos 6.
(J85/P2/14b)

Given that wsg +§g = 3, show that 5 tanA 2 cot B. Given further thatA is acute and that

tan B=2 find, without using tables or calculators ‘the value of (1) tan (4 + B), (11) sm A,
(iii) cos 24. (N85/P1/14)

& . The equations of a curve, in terms of parameter 0, are given by x =sec 0 — tan 9
¥ = sec & +2 tan 0. Express sec 0 and tan 6 in terms of x and y. Hence obtain, in sxmphﬁed
form, the cartesian equation of the curve. (N 85/P1/ 16b) :

<. Prove the identity sec’ x + cosec’ x = sec’ x cosec? x. (J86/P1/6)
(> + Given that cos 6 = ¢ and that 0 is acute, express, in terms of ¢, (i) cosec 8, (ii) cot 6
(iii) sin 26, (iv) tan (0 + 45°). (N86/P2/4b) ;

3. Prove the identity Lisinx 082 _ 9 gecy. (J87/P1/3)

1+ sinx

2

3+ Given that zz:g * g; =3 prove that cos 4 cos B =7 sin 4 sin B and deduce a relatronshrp be-

tween tan 4 and tan B. G1ven further thatA + B 45°, calculate the value of tan A4 + tan B
a 87/P2/4b)

&, For the curve whose equation 1sx2 + 4y* — 8y = 0, a parametric form for y is given by

=1+ sin 6. Obtain, in its simplest form, a correspondmg\parametrrc form for x. (J87/P2/8b)
(o Prove the identity cosec x —sin x = cos x cot x. (N87/P1/3) A , : _
( Given that sin o0 = —, where 90° < ¢, < 180°, and that cos B = 153, where 180° < <-270°,

calculate, without using tables or calculators (@) sin (o — P), (u) ‘cos 2a, (iti) sin 2B
(N87/P2/4a) o : P

12. Prove the identity secx cosec x — cot x = tan x, (J 88/P1/5)

, Given that tan 0 = t and that 0 is acute, express in terms of f, (@) sin 6 (u) sin 26
(111) cot (0 + 45°). (J88/P2/3b)
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